

$$1. (2+t)^{2/3} = 2^{2/3} \left(1 + \frac{t}{2}\right)^{2/3} = 4^{1/3} \left(1 + \frac{t}{3} + o(t)\right) = \sqrt[3]{4} + \sqrt[3]{4} \frac{(2-t)}{3} + o_2(t-2)$$

$$\cos x = 1 - \frac{x^2}{2} + o(x^2)$$

$$(1 + \cos x)^{2/3} = \left(2 - \frac{x^2}{2} + o(x^2)\right)^{2/3} = 4^{1/3} \left(1 - \frac{x^2}{6} + o(x^2)\right)$$

$$\frac{\sqrt[3]{4} - (1 + \cos x)^{2/3}}{x^2 - x^3} = 4^{1/3} \frac{\frac{x^2}{6} + o(x^2)}{x^2 - x^3} \rightarrow \frac{4^{1/3}}{6}$$

$$2 \int \frac{x dx}{1+x^2} = \frac{1}{2} \ln(1+x^2)$$

$$\int_0^x \frac{t}{1+t^2} dt = \frac{1}{2} \ln(1+x^2) \sim_{x \rightarrow 0} \ln(1+x)$$

$$3 \int_{\frac{1}{2}}^1 \ln\left(1 - \frac{1}{2^3}\right) \sim \frac{1}{2^3} \int_2^{+\infty} \frac{dx}{x^3} \text{ converge } \Rightarrow \int_2^{+\infty} \ln\left(1 - \frac{1}{x^3}\right) dx \text{ converge (règle de Riemann)}$$

$$\ln\left(1 - \frac{1}{x^3}\right) = \ln\left(\frac{x^3-1}{x^3}\right) = \ln(x-1) + \ln\left(\frac{x^2+x+1}{x^3}\right) = \ln(x-1) + o_{x \rightarrow 2}(x) \sim_{x \rightarrow 2} \ln(x-1) = o\left(\frac{1}{\sqrt{x-1}}\right) \text{ car } \int_x^2 \frac{dx}{\sqrt{x-1}} \text{ converge}$$

$$\Rightarrow \int_1^2 \ln\left(1 - \frac{1}{x^3}\right) dx \text{ converge}$$

$$4 \ln\left(1 - \frac{1}{n^3}\right) \sim -\frac{1}{n^3} \quad \sum \frac{1}{n^3} \text{ converge } \Rightarrow \sum \ln\left(1 - \frac{1}{n^3}\right) \text{ converge par règle de Riemann } \left(\sum \frac{1}{n^3} \text{ converge}\right)$$

$$\frac{(n+1)^2}{n+2n^2} \sim \frac{n^2}{2n^2} = \frac{1}{2n} \quad \Rightarrow \sum \frac{(n+1)^2}{n+2n^2} \text{ diverge par règle de Riemann } \left(\sum \frac{1}{n} \text{ diverge}\right)$$

$$5 \sum_{n=2}^N \frac{1}{\ln(n)} - \frac{1}{\ln(n+1)} = \frac{1}{\ln 2} - \frac{1}{\ln(N+1)} \rightarrow \frac{1}{\ln 2} \text{ qd } N \rightarrow +\infty$$

$$\frac{1}{\ln(n)} \ln(n+1) = \ln\left(n + \frac{1}{n}\right) = \ln n + \ln\left(1 + \frac{1}{n}\right)$$

$$\frac{1}{\ln(n+1)} = \frac{1}{\ln n} \frac{1}{1 + \frac{\ln\left(1 + \frac{1}{n}\right)}{\ln n}} = \frac{1}{\ln n} \left(1 - \frac{\ln\left(1 + \frac{1}{n}\right)}{\ln n} + o\left(\frac{\ln\left(1 + \frac{1}{n}\right)}{\ln n}\right)\right) \Rightarrow \frac{1}{\ln n} - \frac{1}{\ln n^2} = \frac{\ln\left(1 + \frac{1}{n}\right)}{\ln^2 n} + o\left(\frac{\ln\left(1 + \frac{1}{n}\right)}{\ln n}\right)$$

$$\ln\left(1 + \frac{1}{n}\right) = \frac{1}{n} + o\left(\frac{1}{n}\right) \sim \frac{\ln\left(1 + \frac{1}{n}\right)}{\ln n} = \frac{1}{n \ln n} + o\left(\frac{1}{n \ln n}\right) \Rightarrow \frac{1}{\ln n} - \frac{1}{\ln n^2} = \frac{1}{n \ln^2 n} + o\left(\frac{1}{n \ln^2 n}\right) \sim \frac{1}{n \ln^2 n}$$

$$\sum \left(\frac{1}{\ln n} - \frac{1}{\ln n^2}\right) \text{ converge } \& \quad \frac{1}{\ln n} - \frac{1}{\ln n^2} > 0 \Rightarrow \sum \frac{1}{n \ln^2 n} \text{ converge à la même vitesse car à la même vitesse } \frac{1}{\ln(n+1)} \sim \frac{1}{\ln n}$$